T (76 Dy 2ta
Sy fine, +-2 velitod (1))/75012,0) prfyel] i 581 gawdeie gkl | nite smistate ot
% e b £ Ps(2,€).
BE: il s dro s cropd ¥ e tdlbn | cld piygeo, 5 el
T ths setty, 1 ritl otk § &7 e bty L weit DLl oz e idod] woith e Foc
ol watid {3/‘)7’“[""1- 2 Spas Hi £ PSL2T) Y .zwé 3"*7"6”"‘3-
lag, we e o oot P Do

_D{. A F(M;/cé Mt V) n ST stole % V(P)< Vo @f %fGS’; A it B Sowmi-stf 1§

V(P>é’/7/ v oest A More B niZe senishl 8 it /sac-,,gg i 6M 1)
B bivn a WO sl £ pocb ey e, i) reall 5" & Z020) e gk o pobib) mmoe
V= "z-, Z {i %1,:/

Whidh & St/ spmisklo/vice sani-sly &> Yo weghts] /?ovﬁ ae »veaw(a o ¥e @y ;(?Z,l..')k‘,
Mo, & ¢ S em > T o, T Ft G st BIO) = it 0 S B Ao
Rb) = gz"(ﬁ Av(@
S

RWéﬁc—@m v"\éz"g' "’QA%’
B(>,g\(l>3ﬂ‘v,>) SP Zf%(l:\p{Ar« Z

s*
foc excple, vl 1,1 =(%,...,%>,%333>7t S he=%7e

M M);’F VX an 475@%)%«« @(V> 3 The W“[“W&\ﬁrgmé{ﬁ 4{Ms.

P@: e 2ndn st poe v pn S 3 VEPSL2,0) 4 R(%v)=0. Fedmd \KBMP]&Y

o Ma,mé»m /b( qES0(3) & s -



TM‘SL(@ s in, 22k PSL2 ) ofhit im [y ondos @ unigie M?Z‘ZK 1‘0. rsi‘:\s% )
Sn%pee/% Suo Uk @l cpinkne g v QP @ w07 DL [ e . por
B s 2oes Spoh ot oty 4 oo (3 o) il P, e S0 Bk pords o

(P/7s5212,0 = Mise /302.6)
o b W’ﬁ ,szp(é a Ched g v To SV W SRR

(S ), Sot3) = w(SVsorsy = Moo [osen ) = (PV/ peize)



